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Non-metals are present in which block of periodic table?

@ s-block p-block (© d-block (d) f-block
Which of the following statement is correct?

(@) Na atom is smaller than Na* (b) Na atom is larger than K atom

(c) F atom is smaller than F d) F atom is larger than F
Which order is correct one of the size of atoms?
(@ Mg>Sr[§) Ba>Mg (c)  Lu>Cu (d) Cl>l

Which is the correct statement?

@) CI" is smaller than Cl atom

(b) Cl- (ion) and CI (atom) are equal in size.

(®) Na" is smaller than Na atom

(d) Na" is larger than Na atom

Which ion will have maximum heart of hydration?

(@ Li (b) Na' () K ) Mg™”
Mark the correct statement.

@ All lanthanides are present in the same group.

(b) All halogens are present in the same period.

©) All the alkali metals are present in the same group.
(d) All the noble gases are present in the same period.
Which statement is incorrect?

@ All the metals are good conductors of electricity.

(b)  All the metals are good conductors of heat. — [T
(@  All the metals form acidic oxides. -_ A WN [ (O
(d)  All the metals form positive ions!” } 4 40 4 L s
Amphoteric oxide is formed by: | T\ (0 VL L L L

(@ Ca 1) (b\ e VO ) 2 (d) cu
Oxides of Beaire?| T~ 7 || o ) 0 ="

(@  Acidi¢ (), Bar c\\ V8 Amphoteric(d)Neutral

HvﬂsrouD N reccnﬂble) in'pi upertles with groups:

A1 'ﬁj) |i,,3 -5, VII-A elements (9] I-A, IV-A, VII-A elements
W ey - A, lI-A, V-A elements  (d) I-A, 1I-A, elements
~15.

The word alkali is derived from which language?

(a) Arabic (b) Greek (c) French (d) German
Formula of Epson salt is:

(a) MgS0,.7H,0 (b) MgSo,

(©) MgCO; (d) CaMg3(SiOs),

Which one does not belong to the alkaline earth metals?

@ Be (b) Ba (c) Ra (d) Rn

Which one of the following is not an alkali metal?
@) Francium (b) Caesium (c) Rubidium (d) Radium
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Chile saltpeter has the chemical formula? (19 Time)

(a) NaN O, (b) KNO, () Na,B,0, (d)  Na,CO05, H,0

The minerals CaSo4.2H,0 has the general name.

(@) Gypsum (b) Dolomite (c) Calcite (d) Epsom sal*

The chemical formula of Fluorspar is: —n _
(@)  Cas(P0,)sF CaF, . (©) | |\ NasdiF, (@)~ " ECL gl 6H,0

General name of mineral Mg&3G,. 7TH>2 IS _ | . !
(@  Gypsum (b)  Dclomite o)) | Calcieb) - EpsonSalt
Which one ¢t ifte followima oxices'1s mo're basic?

(@ BeO : Q) | 50\ ) CaO (d  MgO
Point out_the'elernent whick: 12ems super oxide:
(ayr s, L ~ 1) Na (c) K d C
| “3bmipauind uptained when Na burns in excess of air:
€] NaO, (b) Na,0, (c) Na,0 (d) Na,0,
The oxides of beryllium are:
@ Acidic (b) Basic (c) Amphoteric (d) None of these
Which ion will have the maximum value of heat of hydration?
(@ Na' (b) Cs' () Ba™ B Mg
Which of the following sulphates is not soluble is water?
@ Sodium Sulphate (b) Potassium Sulphate
(© Zinc Sulphate (d) Barium Sulphate
In Down’s cell CaCl, is added to NaCl to:
@ Increase solubility (b) Increase the dissociation
(© Increase conductivity )] Lower its melting point
Down’s cell is used to prepare:
@ Sodium Carbonate (b) Sodium Metal
(© Sodium Bicarbonate (d) Sodium Hydroxide
Which elements deposited at the cathode during the electrolysis of brine in diaphragm cell?
€& H: (b) Ba (©) Ra (d) Rn
The chief ore of aluminum is: (14 Time)
(@) NasAlF, O 4,,05.2H,0 () Al0, (d)  Al,05.H,0
Tincal is a mineral of:
(@) Al (b) C (c) Si (0)) B
Chemical composition of colemanite is: .
Ca,Bg0,4.5H,0 (b)  CaB,0,.4H,0 (
(c)  Na,B,0,.4H,0 (d)  CaNaBs0o.8H,0-, [ [~ \ |
Which of the following elements is not presentahbundaptly i sartis’s wryus?< | 0
(@  Silicon(b)  Aluminum-, ) Sodaam | L L () Orygen) —
The aqueous solution of Borax: AT y o - ]

@  Acidi=[fy]| Alkatine, | (c)\ \Amiphioteric(d) Manual
Which is usestin tag leathér indistyy 2= 0 =

(@) Boraxi |} 1(E) " Boric-Acid  (€) Borix oxide (d) Tetra Boric Acid
Boric dcid calni by tisea:

\‘;) 423 aftiseptic in medicine (b)  For washing eyes
Al “In soda bottles (d) For Enamels and Glazes
Aluminum oxide is:

(@) Acidic Oxide (b) Baric Oxide

(®) Amphoteric oxide (d) None of these

Which elements forms an ion with charge 3+?

@ Beryllium (b) Aluminum  (c) Carbon(d) Silicon

Which metal is used in the Thermite process because of its reactivity:

@ Iron (b) Copper@ﬁj Aluminum  (d) Zinc

Which element among the following belongs to group 1V-A of the periodic table?
€)) Barium(b) lodine b Lead (d) Oxygen
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Which one of the following is used in cosmetics?

(@) Talc (b) Asbestos
(© Sodium sulphate (d) Aluminum Sulphate
Chemical formula of litharge is:
(@) Pb,0 (b)  Sio, (c) PbO A& Phiy
Out of all the elements of group VA, the highest fonizaiicyi energy; is pogsessed.by:
) N (b) P < (@ S\ fd), 7y iAS
In group V-A elements the modt electrcnegat ve eizmestis: ' '
N (By-_P ) < Sp (d) Bi
Laughing ga5 i3 chiemitelly? . - '
@  NO L) M, B N0 (d)  N4O4
Wigieh £1 he follcwarigis a reddish brown gas?

[ el IN2Ds . @ NO, (c) N,O3 (d) N,Os
Thie oxidation of NO in air produces:
(a) N,O3 (b) NO, (C) N,O3 (d) N»O4

Out of all the elements of group VI-A the highest melting and boiling points is shown by the
element:

) Te (b) Se (©) S (d) Po
What is %age of calcium phosphate in bone ash?
(@ 20 (b) 40 80 (d 60
Carboxylic acids on reduction with HI and red phosphorous gives:
(@) Alkanes (b) Alcohols (c) Aldehydes  (d) Ketones
Maximum number of unpaired electrons is in:
@ O (b) 07 ) 0; d 03"
Which catalyst is used in contact process?
@  Fe,04 V,0s € SO0; d  Ag.0
Which one of halogens is a liquid?
@ F (b) Ch © B () P
Which halogen is a solid at room temperature and pressure?
@ F (b) Ch ()  Br @ L
Which one is per chloric acid?
(@) HCIO (b) HCIO; (c) HCIO, (d) HCIO,
Which halogen occurs naturally in a positive oxidation state?
@ Flourine (b) Chlorine (c) lodine (d) Bromine .
Which of the following hydrogen halide is the weakest acid in solution? |
(a) HF (b) HBr (©) HI (D=, [HEEF V[
Which halogen will react spontaneously Wlth AU (s) to sroduce AL+3T | (O
@  Br 0)  Fo @ Y
The anhydride of HCIO4 is: 71 ) I,
@  ClOg~ 1\ (b7 (%) -~ © Cbk
Chlorine heiatpkidé (C‘."C? reor‘t,”'\/\I‘h water o form
a HyDOthmLs adia, |\ (b) Chloric acid
ﬁ Rer shlrit acio—~ (d) Chlorine and oxygen
MWhirgi i "(hesaongest aC|d?
(¥ THCIO (b) HCIO; (c) HCIO; (d) HCIO,
Which one is chlorous acid?
(@ HCIO HCIO, (c)  HCIO; (d)  HCIO,
Bleaching powder may be produced by passing chloring over:
(@) Calcium Carbonate (b) Hydrated Calcium Sulphate
(©) Anhydrous Calcium Sulphate (d)  Calcium Hydroxide

An element that has high ionization energy and ten do to be chemically inactive, would most
likely to be:

(@) An alkali metal (b) A transition element

(c) A noble gas (d) A halogen
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is used as a cooling medium for nuclear reactors.

(@ Ne He () Ar d  Kr
Which of the following noble gas is used for arc wedding and cutting?

(@) Ar (b) He (c) Ra (d) Xe
The total number of transition element is: —
(@ 10 (b) 14 (@)1 40 () R
Total number of d-block elemziiis are:. - _ _

(@ 10 (b) 20 [\ 2 @ 40
Which of theigllcwing-iss1on=typicai-transition metai?

(@) Fe - by ML D ST zn (d  Ni
Which of the!follpwii; 1%|s tyow‘al ransition element?

(aj 34 ) (c) Ra (d) Y

3. P Ihichlot the followmg is atyplcal transition metal?

(&)  Sc by Y Fe (d Ra

Group 1V B of transition elements contains:

(@) Zn,Cd,Hg (b) Fe,Ru,Os  [(9] Cr,Mo,W  (d) Mn, Te, Re
Oxidation state of CU in K5[Cu(CN),] is:

© +4 (b) +3 (c) +2 (d +6
The colour of [Ti(H,0)¢]*3 ion is:
@ Red (b) Yellow(c) Violet (d) Green

The colour of transition metal complexes is due to:
) d-d transitions of electrons
(b) paramagnetic nature of transition elements

(© ionization (d) loss of s-electrons

The strength of binding energy of transition elements depends upon:

@ number of electrons pairs number of unpaired electron
(© number of neutrons (d) number of protons
Co-ordination number of Pt in [PtCI(NO,)(NH3),4]

@ 2- by 4 (c) 1 (d) 6
What is coordination number of “Fe” in K,[Fe(CN)¢]|?

(@) 4 (b) 6 () 2 d 3

Which is not an ore of iron?

@ Haematite (b) Magnetite () Limonite (d) Cassiterite
The percentage of carbon in different types of iron products is in the order of:
(@) Cast iron>wrought iron>steel(b) Wrought iron>steel>cast iron

©) Cast iron > Steel > wrought iron(d) Cast i iron = steel > WI‘OUC‘L"‘T nor

Formula of Haematite is: A
@ FeS, (b) Fe.03 J (C) FE(. Cg U \ ._F(:,_;(sz

Mild steel contains carbon perg entags:! i — |

(@) 0.1-0-2% (b).,~G:310.7% \(©) W, Gt rU/o (d) 1.6-2.0%
The chemistzth <"v"1thesued urpalfi (}R ammunlum cyanate was:

@ Berzetjui | '\ () | Foibe~ (c) Wholer(d) Lavoisier

_Fnr"\uncfmarmga T

F] Y G 4 (b) CoHg (C) C3Hs (d) C4H1g
Telra |:thyl lead (T.E.L) is used as:

@ Pain Killer (b) Petroleum Addictive

(©) Fire Extinguisher (d) Moth Repellent

Which one is the heterocyclic compound of oxygen?
@) Pyridine (b) Parrole Furan (d) Thiophene
Select from the following the one which is alcohol.

©) CH3CH,0H(b) CH3OCH;  (c) CH;COOH  (d) CH3.CH,.Br
In t-butyl alcohol, the tertiary carbon is bonded to:
€)) two hydrogen atoms (b) three hydrogen atom

(c)  one hydrogen atom no hydrogen atom
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Linear shape is associated with set of hybrid orbitals?

@ sp (b)  sp? (€ dsp? d) sp’
The state of hybridization of carbon “C” atom in methane.
(@ sp (b)  sp (c)  dsp® ® s’
Which set of Hybrid Orbital planner trianglular shape? _L30Tine)
(@  sp sp? . (©) | ' dsn? (@~ " sp’
The state of hybridization in etiiene maleculeis: | | (11Tiine)
(@  sp sp’ o | tept @ Lsp®
Ethers shovy tie phengiienan ot VY
(@) Positiin isomerisr . _s=b) " Functional group isomerism
(c) Methamerism' | L () Chain Isomerism
Thpprasznce pf aldotivie bond in a compound is the sign of:

el ] [Saturdtion Un-saturation
(% Substitution (d) None of these
Formula of chloroform is:
(@) CHsCI (b) CCl, (c) CHCl, () CHCI;
Preparation of vegetable ghee involves:
@ Halogenation (b) Hydrogenation
(© Hydroxylation (d) Dehydrogenation
When methane reacts with CI2 in the presence of diffused light the products obtained are:
@ Chloroform only (b) Carbon tetrachloride only

C Chloromethane and dichloromethane
Mixture of a, b, ¢

Conversion of unsaturated hydro carbons saturated hydrocarbons in the presence of catalyst is

called as:

@ Halogenation (b) Hydrogenation

(© Hydroxylation (d) Dehydrogenation

B — B’-dichloroethyle sulphide is commonly known as:

@ Used in 1% world war (b) Powerful vesicant

(© High boiling liquid (d) High boiling gas

The addition of unsymmetrical reagent to an unsymmetrical alkene is in accordance with the
rule:

(@  Hund’s rule (b) Markownikov’s rule
(©) Pauli’s Exclusionj Principle (d) High boiling gas

Which acetylene reach with HCk to form: X
(@) Polyacetylene (b) Benzene e~ L
@  Chloroprene _ (d) (7, Divinytagetvlena®, N | () o~

Which compound is the most reactive? ) \ARRIRRR
(@)  Benzene Ethene fey | | Fithane () |} Etfiyrie
Synthetic rukhzris made sy polyimerization o/ |

(@  Vinyigegiath |~ () L T )~ Acetylene

(c) Divinylasetylene | | ) ©)) Chloroprene
Whichiga is used for artificial ripening of fruits?

) v Elrese &) Methane (c)  Propane (d)  Ethyne

~romatic hydrocarbons are the derivatives of:
a Normal series of paraffins  (b)  Alkene
& Benzene (d) Cylcohexane
Aromatic compounds burn with sooty flame because:
@) They have high percentage of hydrogen
(b) They have a ring structure
() They have high percentage of carbon
(d) They resist reaction with air
The benzene molecule contains:
€)) three double bonds (b) two double bonds

-
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(© one double bond (d) delocalized © — electron cloud
The carbon-carbon (C-C) bond length in benzene is:

€)) 1.34 A° (b) 1.20 A° 1.39 A° (d) 1.54 A°
The conversion of n-hexane into benzene by heating in the presence of P’r 5 Cd.'Gd
@) Isomerization Aromatization -

(© Dealkylation ~. (d) '\ ' Reariarigzmeiit

During Nitration of Benzene, tiig, active-nitraung ‘agentiis. .

(@) NOs (b) NQO™, o)l | N2 () iANO;
Benzene caringt undergo: - VA

@ AICI; () | BeCl | sc)  NaCl (d  HNO;3

~T i electrbphile in-A\vomatic sulphonation is:
[ el) ' H:50, (b) HSO, (®) SO3 (d) SO+3

Ainongst the following, the compound that can be most readily sulphonated is:
€) Toluene (b) Benzene (©) Nitro-Benzene (d) Chloro-Benzene

. Which of the following acid can be used as a catalyst in Friedel Craft’s reactions?

A  AlCh (b) HNO; (c)  BeCl, d  NaCl

. Which one of the following species is an electron?

(@) -CHs; (b) -CHO (c) -OH (d)  -NH;
Which compound is the most reactive?
@ Benzene (b) Ethene (c) Ethane (d) Ethyne
In primary alkyl halides, the halogen atom is attached to a carbon which is further attached to
how many carbon atoms?
(@) 2 (o) 3 (c) 1 d 4
The reactivity order of alkyl halides for a particular group is:
@ Flouride > Chloride > Bromide > lodide
b Chloride > Bromide > Flouride > lodide
ﬁ lodide > Bromide > Chlrodie > Flouride
(d) Bromide > lodide > Chloride > Flouride
SN2 reactions can be carried out with:
) Primary Reactions alkylhalide
(b) Secondary alkylhalide
(© Tertiary alkylhalide
(d) All of these
Which one of the following is not a nucleophile?

(@ H0 (b)  CHs BF; (@D N [
Which one of the following is best nucleophile? ™| — " " N | (2 o=
@ H0 ()  NHs ) @ \GHsO L o
Elimination Bimolecular reactioris kyive; i ' — |

(a) Secord. Orler Kinatics™, | i) Flr‘fﬁoer Kinetics

(©) Third-2irder [Kingtice _ (d\\ 7erg=order-Kinetics

. For WhICh meacihanisme, 1he fi rs* 5tp involved is the same:

(@~ (& ndEz! \¥h) ““E,andSn2  (C) Eo;and Sn2  [(0))] E; and Sn2

7 .I'Wlaul L.L 2Cis-inade to react with ethyl magnesium iodide, followed by acid hydrolysis, the

product formed is:

@) Propane (b) Propanoic acid
(©) Propanal (d) Propanol

The reactivity of Grignard’s reagent is due to:

@) Polarity of Mg-x bond (b) Polarity of C-Mg bond

(©) Electro negativity of halogen atom
(d) Presence of Mg-atom

Grignard’s reagent is reactive due to:
@ The presence of Halogen atom

(b) The presence of Mg atom

-
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The polarity of C-Mg bond
(d) None of the above

When ethyl magnesium bromide is reacted with HCHO, followed by acid hydronS|s the

product formed is:

(@) Ethanol (b) I-Propanol () 2-Pranargi, | (d) -~ Ethar dicAcid
Which compound is called universal solvent? ) C '
(@  CH3OH (b)  CauOH " (o 'CHioch: | T/ 4 110
In t-butyl alcohol, the tertiary caibon/is bncec td: ' '
(@)  ThregTydrogen.aiains () '\ Trwonyerogen atoms
(c)  One Kydrager alom . 18] No hydrogen atom
. Which compouni shows rnaxwum hydrogen bonding with water?
(a | BH0H 2 {) C,Hs0OH (c) CH3-O-CH; (d)  CgHsOH
2, Vletry! etdoiol is not used as:
&) As a solvent (b) As an anti freezing agent
ﬁ As a substitute for petrol (d) For denaturing of ethyl alcohol
. Rectified spirit contains alcohol about:
(@) 80% (b)  85% () 90% ) 95%
compound shows extensive hydrogen bonding with water: (3 Time)
(@)  CuHs (b)  HS C,HsOH (d)  CHsCI
Which enzyme is not involved in fermentation of starch?
@ Zymase (b) Urease (C) Invertase (d) Diastase
Which compound shows hydrogen bonding?
(a) CoHeg (b) C2H5C| (C) CH3;0OCH (d) C,HsOH
Ethanol can be converted into ethanoic acid by:
(@) Hydrogenation (b) Hydration
(c) Oxidation (d) Fermentation

Which compound is more soluble in water?

(@) C,HsOH (b) CeHsOH (©) CH3COCH;  (d) n-hexanol
The most reactive alcohol when O-H bond breaks is:

@ Tertiary alcohol (b) Secondary alcohol

(© Primary alcohol (d) Methyl alcohol

Which is more soluble compound in H20?

@ | Propanol (b) Methanol (©) Phenol (d) n-Hexanol
Bakelite is obtained from phenol by reacting with:

(@) Acetal (b) Ethanal Formaldehyde (D, [Mietiano]
According to Lewis concept, ethers behave asy | SN -\
@ Acid (b) Base, ) () rluc Ieomle L () —Solvent
The carbon atom of carbonyl crcur i 1y)' IC'IZ’d ) ]

@ spo o~ N sV () - (d dsp

Ketones areaveparad by the ox rjam\\qf -

(@)  Primaty aicohol | A= ) Secondary alcohol

(Cle=, Te |ar/chol Cl) (d) None of these

D mln 1St

(&) 10% solution of formaldehyde in water
(b) 20% solution of formaldehyde in water
(c) 40% solution of formaldehyde in water
(d) 60% solution of formaldehyde in water
Which of the following compound will not give iodoform test on treatment with 12/NaOH?

@ Acetaldehyde (b) Acetone

(c) Butanone (d) 3-Pentanone
Cannizzaro’s reaction is not given by:

@ Formaldehyde (b) Acetaldehyde

(o) Benzaldehyde (d) Triethylacetaldehyde
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Which reagent will react with both aldehyde and ketones?

(@) Grignard reagent (b) Tollen’s reagent
(© Fehling’s reagent (d) Benedict’s reagent
Acetone reacts with HCN to form cyanohydrins it is an example of
() Electrophilic addition (b)  Electrophilic substiti:tic:i™ A
Nucleophiolic addition ()| Nueleopfiliz-subisiitisicn
Aldol condensation is given: : - _
(@) Acetaldehvde ) Fo.malc’ehy:!e
(c)  Benzaldehyde (@) | Trirethylacetal
Which one cith® {biloving, conjpiourids i react with Fehling’s solution?
(@  HCOCH | |\ '\ ) (b)  HsC-CHO
IE | BLI-CH nnOH (d)  H3C-CO-CHs
32, i'hz eofrizouind used in the processing of anti-polio vaccine is:
(&) Acetaldehyde d Formaltehyde
(© Acetone (d) Ethylbromide
A carboxylic acid contains:
@ A hydroxyl group (b) A carboxyl group

(© A hydroxyl and carboxyl group (d) A carboxyl and an aldehyde group

Which of the following is not a fatty acid?
a Propanic acid (b) Acetic acid
ﬁ Phthalic acid (d) Butanoic aid
Which reagent is used to reduce a carboxylic group to an alcohol?
(@  Hy/NI (b)  Halpt () NaBH8)] LiAIH,
Which of the following derivative is not directly prepared from acetic acid CH3COOH?
@ Ethyl acetate (b) Acetyl chloride
(© Acetic anhydride Acetamide

Acetamide is prepared by:
Heating ammonium acetate (b) Heating methyl cyanide

(© Heating ethyl acetate (d) The hydrolysis of methyl cyanide
The flavor of octylacetate is:
) Orange(b) Apricot (© Banana(d) Jasmine
Which of the following ester gives apricot flavor?
(@) Amyl acetate (b) Benzyl acetate
(c) Amuyl butyrate (d) Otyl acetate
Acetic acid is manufactured by:
@ Distillation (b) Fermentation L T N |
(c)  Ozonolysis (d) 7\ Esterification., N | (7 e
Which of the following derivatives caringt be “"er)and ditrectly | fromi ac, Stic auld')
@)  Acetamine 217 1)y Aty clilbride
(© Acetic-aqhydride_. - | () Eftt. -dCetate
Which acid iztibed] in't! 2 man hc tr\\qf SN .etii: fiber?
@) Formit Acia, | 1 (b) Oxalic Acid
(.~ rClboriicifcidl () Acetic Acid
[ FpEsdliiinioFwhich acid is used for seasoning of food?
(&) “Formic acid Acetic acid
(© Butanoic acid (d) Benzoic acid
Which one is neutral amino acid?
@) Lysine (b) Histidine (c) Glumatic acid Valine
Which of the following is a neutral amino acid?
(@) Glycine (b) Lysine () Histidine (d) Glutamic acid
Polypeptide has molecular mass upto:
(a) 10,000 (b) 20,000 (c) 1000 (d) 10

A polymer is a large molecule built up by the repetition of small and simple chemical units.
@p Monomers  (b) Dimers(c) Tetramers (d) Trimers
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The polymer which can be softened and hardened by heating and cooling is called:

(@) Thermoplastic (b) Thermosetting

(c) Proteins (d) Fats

Which of these polymers is a synthetic polymer?

(@  Animalfat (b)  Starch (¢)  Cellulose (@) Paiyeser _

A polymeric substance that is formed.in the jiquid-state ang-ther harienes to & rigid solid is
called: \ : - _ _

€)) Fiber (b) Plestic (C; /anish () Polyamide resin

Which of theiplicwingis-an additior-nclymers” . '

@) Polyesier ﬁ Pojystyrenes}-lylon 6, 6 (d) Terylene

The fiber whict is inaaz frenaerylonitrile as monomer?

(a5t | BYEC : (b) Polyester fiber

e IRayon Fiber @)  Acrylic fiber

Wiich one of the following is mono-saccharide.

Fructose (b) Sucrose (©) Starch (d) Cellulose

Which of the following element is not present in all proteins?
@ Carbon(b) Hydrogen (© Nitrogen (d) Sulphur
Which of the following element is present in all proteins?

(@ ClI (b) Cu N d Al

Vegetable oils are:

@ Polyesters (b) Glycerides  of unsaturated fatty acids
(© Essential oils (d) Fatty acids

The reaction between fat and NaoH is:

(@) Esterification b Hydogenolysis

(© Fermentation &ﬁ Saponification

Which one of the following is a water soluble vitamin?

(@) Niacin (b) Riboflavin  (c) Trypsin 0] Ascrobic Acid
Which of the following nitrogenous base is not present in RNA?

@ Cytosine (b) Adenine Thymine (d) Uracil
Micro-nutrient is required in quantity for plant growth ranging from:

(@  4-40gm (b) 6-200gm (©) 6-200kg (d) 4-40kg
Which three elements are needed for healthy growth for plants?
(@ N,S,P() N,Ca,P N, P, K d NKC

Ammonium Nitrate fertilizer is not useful for which crop:

@ Wheat (b) Cotton (c) Sugar Cane  [(s)) Paddyrice
The nitrogen present in some fertilizers helps plants? — [ ([
(@  Tofightagainst diseases  (b)  To preduce fat, o " W | T oS
(c)  To undergo photosynthesis  [@). ) Tozrodict prowein| | | e
Phosphorus helps the growth ¢f:| Fal ALy

@  Root— T\ (b ieef VL) \()' S Steer @) Seed

Which is not# calséricas material s, ) )

@ Clay |\ |\ ()} | Linestone  (c) Marble(d)  Chalk

How: many’ zonesthroughwhich the charge passes in a rotary kiln?

Rl () 3 © 2 d 5

I’ha wood paper is derived from the name of which reedy plant:

@) Rose (b) Sun Flower  [(9) Papyrus (d) Water
Woody raw material for paper pulp is obtained from:

@) Cotton (b) Biogases Poplar (d) Rice Straw

Ecosystem is smaller unit of:

@ Lithosphere  (b) Hydrosphere (c) Atmosphere Biosphere
Which of following element is not abundantly present in earth’s crust?

@) Siloam (b)  Aluminum Sodium (d) Oxygen
A single chloride free radical can destroy how many ozone molecules?

€) Carbonic Acid (b) CO;

-




Guess Paper Annual 2024 CHEMISTRY 12

193.

194.

195.

196.

2 L T o

10.
11.

_ l.';b.. W

13.
14,
15.
16.
17.
18.

(©) SO, (d) NO

A single chloride free radical can destroy how many ozone molecules? (6 Time)
€)) 100 100,000 (c) 100,00 (d) 10
Peroxyacetyl nitrate (PAN) is an irritant to human beings and it affects.

Eyes (b)  Ears (c)  Stomach (¢, [Nose-
The main pollutant of leather tanneries.in the'wqgste waitr) Is:

(3) Lead \ @ 'Chioraicra (Vi)

(©) Copper fd) o 1r(_rnmlum )

In purification nf nortabls water thecoaguiantused is:

€)) Nickeizulphete b Copper Sulphate

(© Bariurn “Llp'mte ) mﬁ Aluminum Sulphate(Alum)

: Th’ n2wspapor . ranbs-'ecycled again and again many times as:

() [N () 3 © 4 d 2

SUBJECTIVE PART

68/68 Marks Challenge

Cs:cr:omr)

SHORT QUESTIONS (SQs)

Writer four uses of Borax?

What is chemistry of Borax bead test?

How borax can be converted to orthoboric acid?

Why aqueous solution of Borax is alkaline in nature?

How Borax is used as water softening agents?

How does orthoboric acid react with:

a. Q) Ethyl Alcohol (i) NaOH
Give the formulas of four boric acids with- r1ames '
What is action of heat on orthoborl a:.u H 2 ,6‘3

What are uss 01, B)r:c acid?- ' N '

How aluminum rgacts vv.ltn aqL ecus-sodium hydroxide?
Gjifs al-r-j\/.f‘)ur..lsis ot ATUMInUM.

Uy 15 CO, a gas at room temperature? While SiO; is a solid?
What is vitreous silica?

Write four uses of sodium silicate?

What is meant by chemical garden?

What are Silicates?

What are silicones? Write their two uses?

Write the names of four oxides of lead used as pigments.




